OO O 001

DM-001-001223 Seat No.
B. A. (Sem. II) (CBCS) Examination
April / May - 2015
Economics : Paper - IV

(Basic Issues of Indian Economy - 2)
(Core/Principal Subject)

(New Course)

Faculty Code : 001
Subject Code : 001223

Time : 2% Hours] [Total Marks : 70

YA : (1)  2tiaRs Rseusil 2012 otL Wasdlsl gl ).

(2)  wad . 1 M.C.Q. uasll-ll %alol yuu Gadli o
udlel 84,

(3)  onell oug-l »is s« el suld ®.

1 didRs [seu-i um AR Rseusdl yaiesll s : 20
1) oMl vl Aol AHUUN F2dl sl AL A ¢ 7
A 1 »la 2012 ¢l 31 W 2017
B) 1 vl 2013 4l 31 W 2018
(C) 1 »ifa 2011 ¢l 31 3=l 2016
D) 1 sl 2010 4l 31 W 2015

@) olRMl Aloeli-ll vid deal 2sl 9laer siud sal dauls sl sl

vy & 7
(A) 8.5 28 B) 9.0 25 4l 9.5 28
(C) 10 esl D) 11 esl
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(3) 1241 UMl sa olAd £ B2al 25 sl s © 7
@A) 32% @) 35%
©) 38.9% O 41%

@ oMl AL 7 gL 32l A3 3MAL HAqaALdl qgals sl
SAAL WD 7

A 3. 75,42,220 A3 (B) 3. 63,90,375 A3
(C) 3. 45,50,423 A3 (D) 3. 59,55,718 $A3

B) oMl AaUHL A8 A2 32d WA AsRL sl qadls s8] sl
) 8 7

(A) 3. 85,73,422 503
B) 3. 83,80,245 503
(C) 3. 91,60,248 A3
D) 3. 76,47,330 53

6) MRAHl sRU sU=L A 20 880l Add RRARML 34l 361

Q) ¢ 7
A) awl ® B) uxl
©) Raz el ® D) 2RA W B

(M MRAdl sRadll si=-l w3zl $9 Alaxl vda ?
(A) 1958-594i B) 1969-704i

(C) 1966-674i D) 1973-74%i
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®)  sPui “YrRal Bl wAoU7 sAL UsIRAL YAIRL dRud 7
(A) 2sldlwsd B) Aqeusly
(C) AWML UsRAL D) GuHidl i3y gl
9 AN sl ved g ?
A sRull sl
B) ldl siu=t
C) ude sl
D) GuAsd 2ARA sifaxl AYs

10) sRull si=i- Malks uRomi lA<midl s wRea-i axd

adl Al ?

A) yHs vid A

B) vlld-l duru

(C) v ¥d Beule ugli
D) Rauddl »aa3

(11) 19911 ulls YL uedl Beal 24 a¥-L olouHl FHRd-AL 2AENRLs

qlaer.......
A Rz w8 B) awll
(C) ul & D) ay uidl >0l °A) ©
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(12) Aluslseisll oliotdHi sul sall s+l Hsd 83l olloldul il 4 8 ?
A [asfd s B) eufasa sl

©) [as@alla sl D) ndfasua s

(13) %Ml s2rdatl glrl 2Uls Ml daml 2lddl €l d arel

AR oMl a9,
A) Gellswl B) Geno(lsel
(C) aAludlswL D) w8l

(14) 55 w9 WNABd sal Hie [zadl 2uadl axgal Gur-l viglq

gNAl Sl il 8§ 7
A [Fsn walk B) ytHsa wdl
(C) »udd walk D) udld AWl
15) [-dlaa-dl wBat - el aeudl asiy ?
A) (lswl B) GelllswL
(C) aAludlswL D) wWluswL
(16) HRH st~ ASAHL Gaulesdl-l [AAN 2R AL GUR Well © 7
A) s Hasdl wBa
B) el yrasi-l wla
(C) Mulwsdl guadl

D) Mida ax<ll wQ
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(17) HIRdHL HedHseell ASALL HeTd sUL S10NA Wy, O 7
A) sRull sl as3Ruldl Admadl gl
B) »lellls [ddswidll el
(C) Awoul yIl wzaul alext

D) GUASA oltl ¥ SIRLLAR

(18) 2007-2008 ML -l s+l Gelloll-l sl vl 3edl edl ?

A) 1,25,35,000 B) 1,15,65,000

(C) 1,33,67,000 O) 1,44,51,000

(19) 2006 A==t Gellell-l Y dsrei-]l Malsl 32l w55l saHl 2l © ?

(A) 3. 30 A B) 3. 25 A

C) 3. 22 am D) 3. 28 am

(20) ilete g ABRAL HeHeL AR -l Gelell-l ylswei-l vulsl

A 9.
A 3.2 K3 B) 3. 3 KW
©) 3. 4.5 K3 D) 3.5 KR

2 ULl Gellell e axA Rl
w2l

2 HRAHL RS YU Yedis s,

DM-001-001223 ] 5

10

10

[ Contd...



3 sRull sl xed 2udl, dfl Qe Rlg oeudl.

3 ML GeRLl AMRAL gd Sl GUIAL uMeAdl.

(b)

KYql

25 <l avil : (A5 u-L ¥is)
@ Uil Gelolld Hew

Gi) oMl Ax-usll Guull euyil.

25 <l avil : (A5 u-L ¥is)
@ oMl Aloaell AR u3sIR A6l eugi

G) sRull sl vl s

5 25l G 2l : (A5 uaL &)

ey
)
3)
4)
()

AlPugls8L

sRallsifax [Huls uRool
Heqysedl ALSALL xR0
EIER| PRI

Heqysedl AlsAl He.
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ENGLISH VERSION

Instructions : (1) Answer all the questions on the basis of

internal options.

(2) Q. No. 1 MCQ answers should be given in the

main answer book.

(3) Right side figures show the mark of the question.

1 Choose the correct option on the basis of internal option :

ey

)

3)

How much period is decided for 12th Plan ?
(A) 15t April, 2012 to 318t March, 2017
B) 15t April, 2013 to 315t March, 2018
(C) 15t April 2011 to 315' March 2016
D) 15t April 2010 to 315t March 2015.

At the end of 12th plan, how many percentage of growth rate

is decided to be achieved ?

A 85% B) 9.0 to 9.5%

©) 10% O 11%

In the 12th plan how much total saving rate is determined ?
A) 32% B) 35%

©) 38.9% O 41%
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@) In the 12th plan how many crores of rupees are to be targeted

for collection through taxes ?
(A) Rs. 75,42,220 crores
(B) Rs. 63,90,375 crores
(C) Rs. 45,50,423 crores
(D) Rs. 59,55,718 crores

(5) In the 12th plan how much target is fixed for the investment

in public sector ?

(A) Rs. 85,73,422 crores
(B) Rs. 83,80,245 crores
(C) Rs. 91,60,248 crores
(D) Rs. 76,47,330 crores

(6) Which type of change took place with the green revolution

in foodgrains ?
(A) Increased (B) Decreased
(C) 1Is stable (D) Is unstable

(7) The green revolution in agricultural sector was started,

in India
(A) In 1958-59 B) In 1969-70
(C) In 1966-67 D) In 1973-74

(8) What type of the following improvement is considered for the

experiment of reconditional seeds ?
(A) Technological (B) Institutional
(C) General (D) None of above
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(9) What is the meaning of rainbow revolution ?

(A) Green revolution (B) Blue revolution

(C) White revolution (D) All of the above

(10) Which following factor is not introduced as a certain factor

of green revolution ?

(A) Modern agricultural tools

(B) The use of fertilizer

(C) Traditional system for production

(D) The facilities of irrigations

(11) After the economic reforms of 1991, the industrial development

growth rate of the India since last 24 years.

(A) Remained stable (B) Increased

(C) Decreased (D) More decreased

(12) The countries taking protection in the matter of labour

transfer liberty in concern of the globalization are

(A) Developed countries

(B) Less developed countries

(C) Developing countries

(D) Half developing countries
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(13) The system in which the economic decisions are taken by the

market 1s known as
(A) Liberalization (B) Industrialization
(C) Globalization (D) Privatization

(14) Which activities were encouraged to relaxe the restrictions

on the foreign goods ?
(A) Export activities (B) Reexport activities
(C) Import activities (D) Import substitution
(15) Which part would you consider ? "The process of disinvestment."
(A) Privatization (B) Liberalization
(C) Globalization (D) Nationalization

(16) In medium scale industries, which factor is specially responsible

for productivity ?

(A) The process of raw materials

(B) Availability of electrical power supply
(C) Skill of entrepreneur

(D) Availability of man power.

(17) For which reason the medium scale industries are important

in India ?

(A) To satisfy the necessities of green revolution
(B) To the view point of industrial decentralization
(C) To provide employment

(D) All of the above reasons
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(18) How many small scale industries were there in 2007-2008 ?
A) 1,25,35,000 B) 1,15,65,000
(©) 1,33,67,000 D) 1,44,51,000

(19) How much investment limit is fixed since 2006 for very small

industries ?
(A) Rs. 30 lakh (B) Rs. 25 lakh
(C) Rs. 22 lakh (D) Rs. 18 lakh

(20) According to the recommendation of Abid Hussin Committee

the investment limit is expanded for small scale industries

18
(A) Rs. 2 crores (B) Rs. 3 crores
(C) Rs. 4.5 crores (D) Rs. 5 crores
2 Describe the problems of small scale industries. 10
OR
2  Evaluate the economic reforms in India. 10
3 Give the meaning of green revolution and discuss its 10
achievements.
OR
3 Describe measures to tackle the problems of small scale 10
industries.
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Write short note : (any one) 8
@) Importance of small scale industries

(i) Brighter sides of 12th plan

(b) Write short notes : (any one) 8
(@) Weak sides and challenges of 12th plan
@) Limitations of green revolution

5 Write short answers : (any two) 14

(1) Globalization

(2) The factors determining the green revolution

(3) Problems of medium scale industries

(4) Privatization

() Importance of medium scale industries.
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